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Unjniuwy N 26

Cwjwunwuh Cwupwybnnypjuu 2012 pyuywuh yEwnwlwu pjngbnyg <<bpwdinmwlwu, wpdbunp b ginupytumnmp
nwpngubph hwdwp nwunifuww unp dpwgpbph, nwuwgpptph, dpnnuljuu dGEnuwplubph dwynd b hpwwnwpwynwd>>

dpwqpny twpuwwnbujwsé hwnfugnuiubph pwfunudp' pun wnwushu hpwwnwpwynuubiph
Owywip Swjwqnynn
<< Chnhuwy Unbndwgnpénipjwt widwinup | (nywgpulub S“'“‘Qt‘l"t’“’l' dkl opphtwlh ho'"“’“"'n :
Nwunuwiutwlwy, dJGpnpuiwu dEnuwplyubp
1 |Udhptuwujwu MNnpbipun <<Uwulwlywu judpbpgbp>> 20.0 300 3533 1060.0
2 |Udbwpuywu luwswinnip  (fudpwghp' <<Lwunuh dbnuwnly>>, dwu 2-nn
<nyhuitithujwt 4wnhut) 20.0 300 3333 1000.0
3 [Pwpwjwu Cnipwuhy (Yuaqdnn) Nwnuuwlwu dnuwply
/nwgwdninught wih$nuhy
5-7-pn nwuwpwuubp
4 | Pwywu 3niph <<Uwuywlwu wipnd>>, whbuubp
stthnph W nwobwdnih hwdwp 5.0 200 1500 300.0
5 |Cwputwqupuwtu hubuuw (Yuqgunn) Nwnwitwlwu dGnuwpy
/nwouwdnipwiht unbwwnubp/ 12.0 300 2000 600.0
5-7-pn nwuwpwuubp
6 [<btnhuwlwjhu fundp Nwnuiuwlwu dnuwpl
/mwuwdnipwiht Ewnyninutip/ - 5-7-pn 10.0 300 1667 500.0
nwuwnpwuubip
7 | <bnhuwlwjhu funwip Shinwulwpsnipjw wipnd 11.0 200 4000 800.0
8 |unuwu Ubpuwunp (fudpwghp' (Fwysonipwyh dtnuwny, ghpp 2-nn
wpnipjnttywu Lwphub) 14.0 300 2333 700.0
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Owyuwip Swuwgqpynn
<< Chnhuwy Unbndwgnpénipjwt widwinup | (nywgpulub S;‘;wﬁ;’u:’l:‘)’l' dbl opphtwlh (h‘:‘"“’w':f 5
dudny) P ghtp (ppuag) |
9 | Uwpgqujwu <pwgnwu Mhbuubip Yunpubnh hwdwp 8.0 300 1333 400.0
10 {Uwpquywt Lkph, 2wihtjwu Snhwn Nwnwiuwlwu dknuwnpy
(Ywqunnubin) /nwuwdnipwihtu Ynugbipinubp/ 12.0 300 2000 600.0
1-4-nn. nwuwpwuubip, dwu 2-pn
Lunudbup’ 120.0 2800 6360.0
Quwj dwiwtwlwYyhg Yndynghwmnpubph unbndwgnpénipyniuubp
1 |Ustdjwu Ywpnwu “rwouwdnipwyhu
6.0 300 1000 300.0
unbindwannpdénypeniutibp
2 | R ujwu Unu Nrwotwd u
HpHSHTIHR Znn wldniuf 14.0 400 1750 700.0
uwnbindwannpdnip)niutibip
4 | Gplwuywu Gpdwun Unugbipin N 1 onipwyp U ujwquiudph
hwdwp (Ywyhp), YUnugtipin N 2
onupwlh U bjwguwiudph hwdwp 9.5 200 2500 500.0
(Yrwdhn)
5 [ uninnuu Unwd Untuwwn N 2, dEuwudwg onipwlh
huwdwp 0.8 200 300 60.0
6 |Ywpwwbnwu Updtunthh /ugdnn' Ywyhe <<tudptipgbiph punpwuph>>
“Lwquinjwu/ 6.0 300 1000 300.0
7 |<ndhwttuhujwu Enqup (Yugdnn-fudpwghp'  |fudptipngbip (hwy dnnnypnwywu tpgbipp
Uhtiw Pwhjlwtjwt ) dawynwiutin) 36.0 300 5667 1700.0
Lunwdbkup' 78.3 1950 3890.0
Ghunwnwunwtwlwu gpuljwunipyniu
1 |l u 2wybu d 2 tpgbip L
wqwlgut 2wyt (fuqunn) wywfuph wwpbingtip 390 300 2000 100.0

wwpbinwuwlyubp
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Owyuwip Swuwgqpynn
<< Chnhuwy Unbndwgnpénipjwt widwinup | (nywgpulub S;‘;wﬁ;’u:’l:‘)’l' dbl opphtwlh (h‘:‘"“’w':f 5
dudny) P ghtp (ppuag) |
2 (Uwhwljwu Upnwywy,  Uwpwnhpnujwt <<€wy dnnnypnwlwu tipgbip n
Fuwswwnnip ujwqubp>> swnph ¢.6-pn, <<Uuh>>, 20.0 200 4000 800.0
J. 4-nn
3 |[Pwhiuwujwu Uhuw, Uwhwljwu <<€wj dnnnypnwlwu bGpgbip nt
Upnujwly uwiqubin>> ownph 6.7, Rwiht 2.0 200 4500 900.0
Cunwdbkup' 77.0 700 3800.0
2012 p. upytihp hnptywuubph unmbndwgnpénieniuubp
1 |Pwunnuuwpwu Ennuwpn (Yuaqdnn' <Guphy 2nipwlyh untindwgnpdnieniuutn
Udpuwinjw) 9.0 300 1833 550.0
2 | Shpjwu Uquun  (Yuqinn' Ywyhpe Ynlwy fudpbipgwihu
Nwqupjwu) unbindwannpdénypniutibp 4.0 200 1250 250.0
3 | Nuywuywu Upquiu Fudpbipgbph puwnpwup 6.0 200 1800 360.0
4 JUwjwp-Unjw (Yugdnn-fudpwghp’ Mnnnujwu <<hfuwnbip>>
fonydwu) 10.0 300 5000 1500.0
5 |Uwjwp-Lndw (Jowynn' Uwpunhpnujwu <<Wluwpndu wlu shd pwoh>> L
Fuwswwnnip) <<Uph hué wuqwéd Yw>>, dowlynid 20 200 750 150.0
[wpwiht pwnywyh hwdwnp
6 [(Uwpnuwu Twyhe Untwwn pwyoniewyh b nwouwdniph 35 150 1467 220.0
hwdwn
Cunwdbkup' 34.5 1350 3030.0
LLHUELL' 17080.0
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